PUMP, VARIABLE DELIVERY

PVV-200 or

ENGINEERING

-1
_d

250

Installation Drawing

Basic Pump without Control - Side Ported, 1SO Mounting

PVW—-200-B1B
PVW—250—-B18

NOTES:
1. PUMPS DESIGNED FOR ONE-WAY SERVICE
ARE DIMENSIONED AS SHOWN.

N

. THESE UNITS ARE DESIGNED TO RUN
CASE FULL OF FLUID AT ALL TIMES.
FILL CASE BEFORE STARTING AND
CONNECT DRAIN LINES ACCORDINGLY.

w

. HORIZONTAL MOUNTING STANDARD.
FOR VERTICALLY MOUNTED UNITS,
SEE OILGEAR BULLETIN 90014,

&

DIMENSIONS GIVEN IN MILLIMETERS.

o

. NET WEIGHT — 172 KG.

STROKE
INDICATOR

80

14,00 X 9,00 KEY

M20 X 2.5 X 32 MM
THD. DEPTH — 4 HOLES

427,5

— 44,5

22,2

48,4

©

ﬁ 96,8
PORT A (PRESSURE PORT)
2.000 SAE FLANGE PATTERN

PER CODE 62
WITH METRIC SCREWS
fay ) o
[© [
i) ol PORT 1 (CASE DRAIN)
i i3 1.250 BSP THD. PORT
25 ak
<37} 2ln
xr o
= =
Z O Zz O
3k 3 603,7
= 414,53 .
L 120.3 PRESSURE GAGE
s ] W?YBPJ fst CONTROL PORT CONNECTION
4 SAE STR THD
PUMP (REF.) 9.1 o )
CONTROL BLOCK
MTG. SURFACE
28,48 —
gi il A
VOLUME 7N 0 /N
sTOP © -
TYP. h !
{ 294,64
i 305,1 1 _ _ _
I
T i 276,4
154,9 ‘
(T ) )
-
f B
=249,9 2200 —,05 - A
BOLT CIRCLE PILOT
ISO 200 4—BOLT MTG. PATTERN
PER IS0 3019,/2—200B4HW —478,5 PILOT PUMP MTG SURFACE —
—loos — M16 X 2.0 X 25 MM
THD. DEPTH — 4 HOLES
11,13 X 11,13 KEY 57.2 7
_ 4275
27,09 —‘
AN 304 — F—es1.9
‘ - 4
- 244,45 _— 05 1 3! o
35
OPTIONAL SAE E ] \ 7 53,2 5
_ L]
|
5 ‘ n
s <|7 _ I ?N 4 106,4 o
o :
44,5 — ]
FULL
SPLINE 4
T L 250,018 —.015
% ity PORT B (SUCTION PORT)
I PER 1SO 3019/2—-E50M gEORO(Z)()SE/)AEE ;LANGE PATTERN
Loasas — 13
WITH METRIC SCREWS

OPTIONAL SAE E

SPLINED SHAFT (CODE 44-4

PORT 1A (ALT. CASE DRAIN)
1.250 BSP THD. PORT

Telephone:
Fax:

(414) 327-1700
(414) 327-0532

OILGEAR

2300 So. 51st. Street

Reissued: June, 2004
DS-M47939-B

Milwaukee, WI USA 53219




PUMP, VARIABLE DELIVERY

PVV-200 or 250

ENGINEERING

!
—d

Installation Drawing

Basic Pump without Control - Rear Ported, ISO Mounting

PW—-200-B1B
PVW—-250-B1B

NOTES:
1. PUMPS DESIGNED FOR ONE-WAY SERVICE ARE DIMENSIONED AS SHOWN.

2. THESE UNITS ARE DESIGNED TO RUN CASE FULL OF FLUID AT ALL TIMES.
FILL CASE BEFORE STARTING AND CONNECT DRAIN LINES ACCORDINGLY.

3, HORIZONTAL MOUNTING STANDARD.
SEE OILGEAR BULLETIN 90014,

FOR VERTICALLY MOUNTED UNITS,

b

DIMENSIONS GIVEN IN MILLIMETERS.

STROKE
INDICATOR

CONTROL HEAD
MTG. SURFACE
CONTROL HEAD
MTG., SURFACE

5. NET WEIGHT

—1 99,8 |—
— 181 KG.

74.4 57.2

11,13 X 11,13 KEY
44,5
FULL
SPLINE 27.09 "‘
Lossss — 13 L o44,45 — 05

OPTIONAL SAE E
KEYED SHAFT (CODE 44-—1

OPTIONAL SAE E
SPLINED SHAFT (CODE 44-4

CONTROL BLOCK
MTG. SURFACE

14,00 X 9,00 KEY

4143 11203 — PORT 1 (CASE DRAIN)
1.250 BSP THD. PORT
—F—148,3 58,8 o1
45" TYP FIXED CONTROL
P PUMP (REF.) o PRESSURE GAGE
; PORT CONNECTION
20 (#4 SAE STR THD)
A
_ L
21,4 28,48 0
LG VOLUME _ ‘ |
STOP
TYP. 0
4 305,1 _ I
_‘, ‘ 294,6
154,9 J ‘
R10,7 [
T I
1A _—
>249,9 — A
BOLT CIRCLE 2200 —,05 —
PILOT
ISO 200 4—BOLT MTG. PATTERN 555,7
PER ISO 3019/2-200B4HW
PORT A (PRESSURE PORT)
2.000 SAE FLANGE PATTERN
PER CODE 62
WITH METRIC SCREWS
304
M20 X 2.5 X 32 MM
THD. DEPTH — 4 HOLES
r63.5 {
63,5 |
M
154,9 2
9]
n
L L zs0,018
53.2 e iy PORT 1A (ALT. CASE DRAIN)
To6.4 — PER 150 3019,/2_E50M 1.250 BSP THD. PORT
PORT B (SUCTION PORT)
3.000 SAE FLANGE PATTERN M16 X 2.0 X 25 MM
PER CODE 61 THD. DEPTH — 4 HOLES
WITH METRIC SCREWS
VIEW A-A
Reissued: June, 2004 Telephone: (414) 327-1700

DS-M47939-B

2300 So. 51st. Street

Milwaukee, Wi USA 53219 2%

(414) 327-0532




PUMP, VARIABLE DELIVERY ENGINEERING
[}
=1
1
- or -J
Installation Drawing Basic Pump without Control - Side Ported, SAE Mounting
NOTES:
1. PUMPS DESIGNED FOR ONE—WAY SERVICE
PVW-200-B1A ARE DIMENSIONED AS SHOWN.
PW_250—B1A M20 X 2.5 X 32 MM
2. THESE UNITS ARE DESIGNED TO RUN THD- DEPTH — 4 HOLES
CASE FULL OF FLUID AT ALL TIMES.
FILL CASE BEFORE STARTING AND
CONNECT DRAIN LINES ACCORDINGLY. 427.5
3. HORIZONTAL MOUNTING STANDARD.
FOR VERTICALLY MOUNTED UNITS, 304 — | —44.5
SEE OILGEAR BULLETIN 90014.
4. DIMENSIONS GIVEN IN MILLIMETERS. .
5. NET WEIGHT — 172 KG.
T r48.4
4
TROKE T
INDICATOR ,< W S 96.8
JJ 4L
57,2 |
TS XTS5 KEY PORT A (PRESSURE PORT)
2.000 SAE FLANGE PATTERN
PER CODE 62
WITH METRIC SCREWS
208 2
;g X PORT 1 (CASE DRAIN)
T SE 1.250 BSP THD. PORT
2l o
Zls Zlo
1= = 583,1
414,3
—1 997 |— PRESSURE GAGE
PORT CONNECTION
1483 s8.5 Y (#4 SAE STR THD)
FIXED CONTROL ’
PUMP (REF.)
=21,4 THRU 455 CONTROL BLOCK
4 HOLES ' e MTG. SURFACE
27,09 —
VOLUME
sToP
TYP.
294,6
224,5 15 - 305,1 i R
T 276,4
112,3
‘ 1549
112,53 ——
=165,1 —,05
224.5 PILOT
SAE E 4—BOLT MTG. PATTERN
PER CODE 165—4 —1 478,53 PILOT PUMP MTG SURFACE —
—1 120.4
M16 X 2.0 X 25 MM
14,00 X 9,00 KEY 80 THD. DEPTH — 4 HOLES
427,5
28,48 —‘
304 — F—e1.9
T — — 31
L 250,018 —,015 o
OPTIONAL 1SO KEYED T [53.2 8
SHAFT (IS0 _3019/2—E50M) "
D ‘ n
744 T “, _ _ ?\7 i 106,43
L/ o
44,5 — |
FULL
SPLINE
] Lasss —,05 PORT B (SUCTION PORT)
4 YA 3.000 SAE FLANGE PATTERN
PER CODE 61
Lo4ssas _ 13 PER SAE CODE 44-1 Wit VETRIC SCREWS
PORT 1A (ALT. CASE DRAIN)
OPTIONAL SAE E 1.250 BSP THD. PORT
SPLINED SHAFT (CODE 44-4
Telephone: (414) 327-1700 OILGEAR Reissued: June, 2004
Fax: (414) 327-0532 2300 So. 51st. Street DS-M47939-B

Milwaukee, WI USA 53219




PUMP, VARIABLE DELIVERY

ENGINEERING

PVV-200 or 250

!
—d

Installation Drawing

Basic Pump without Control - Rear Ported, SAE Mounting

PW—200—B1A NoTES:

PW—=250-B1A

. PUMPS DESIGNED FOR ONE—WAY SERVICE ARE DIMENSIONED AS SHOWN,

2. THESE UNITS ARE DESIGNED TO RUN CASE FULL OF FLUID AT ALL TIMES,

FILL CASE BEFORE STARTING AND CONNECT DRAIN LINES ACCORDINGLY.

. HORIZONTAL MOUNTING STANDARD. FOR VERTICALLY MOUNTED UNITS,
SEE OILGEAR BULLETIN 90014,

- DIMENSIONS GIVEN IN MILLIMETERS.

— 120.4

. NET WEIGHT — 161 KG.

74,4

14,00 X 9,00 KEY 80

TROKE
INDICATOR 44,5

FULL 28,48

SPLINE —‘
Loasas _ 13 L 250,018 —.015

28 El3 OPTIONAL SAE E
2L E PLINED SHAFT (CODE 44-4 -
s ab
2P z
zo zp CONTROL BLOCK
Sk SE 11,13 X 11.13 KEY MTG. SURFACE
414,3 —] 99.7 |— PORT 1 (CASE DRAIN)
1.250 BSP THD. PORT
148,35 58,8 —15.7
TP FIXED CONTROL
PUMP (REF.) PRESSURE GAGE
21,4 THRU — =191 PORT CONNECTION
4 HOLES (#4 SAE STR THD)
57.2
@ 1
_ L] -
VOLUME 27,09 [©) S
SToP T |
TYP.
\ s D
224,5
T — |- *—( 305,1 T* - @777‘77 r 2946
112,3 L l ® 0 ‘
‘ 154,9
| > OJ ‘r‘i‘
=~ I H ™
12,5 — A
117,86
soa s =165,1 —,056
' PILOT
SAE E 4-BOLT MTG. PATTERN
PER CODE 165-4 535,1
PORT A (PRESSURE PORT)
2,000 SAE FLANGE PATTERN
PER CODE 62
WITH METRIC SCREWS
304

M20 X 2.5 X 32 MM
THD. DEPTH — 4 HOLES

r 635

7€}}

—1 106,4 —

PORT B (SUCTION PORT)
3.000 SAE FLANGE PATTERN
PER CODE 61

WITH METRIC SCREWS

VIEW A=A

L 244,45 —,05
SHAFT

PER SAE CODE 44-1

PORT 1A (ALT. CASE DRAIN)
1.250 BSP THD. PORT

M16 X 2.0 X 25 MM
THD. DEPTH — 4 HOLES

sn
orz

519103-302

Reissued: June, 2004
DS-M47939-B

OILGEAR
2300 So. 51st. Street
Milwaukee, WI USA 53219

Telephone:
Fax:

(414) 327-1700
(414) 327-0532




